Qs -

- L~ Grass leaves curl inwsards during very dry
weather. Seled.themosta‘ppropmte reason from
the following:

JI  Flaccidity of bulliform eells
(2 Shrinkage of air spaces in spongy mesophyll

() Tylosesinvess.)s

(4) Closure of atomata

@ Due to increasing air-borne allergens and
pollutants _many people in urban areas are
suffering from respiratory disorder causing
wheezingdueto:

inflammation of bronchi and bronchioles.

M proliferation cf fibrous tissues and damage
of the alveolar walls.

43)  reduction in the secreticn of surfactants by
- pneumocytes.

(4) benign growth on mucous lining of nasal
ravity.

The ciliated epxthehal cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly presentin:

(1) Fallopian tubesand Pancreatic duct

(2 Eustachian tube and Salivary duct

(é/ Bronchioles and Fallcpian @es

(4) _ Bileductand Bronchioles

Which of these following methods-is the m ggt; 4

suitable for disposal of nuclear waste ° ?

Bury the waste under Antarctic icecover |

W . nOTES m/YanvT. cOM
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v
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5-. Match the Column -1 w:th Column - 11 ;
- Column -1 co]umn_'n
() P-wave.. ‘Depolarisation of
' > ventricles
®)  QRScomplex /¥ (i) Repolarisationof
ventricles _
© T-wave Gi) Coronary
ischemia
(@ Reductioninthe )  Depolarisati
size of T - wave o . .t,{’: fas
()  Repolarisation of
alds .5 - s ‘m
Select the correct option.
e W ) © @
m @ @ G @
@ @ @ @ G
w @ G & G
@ G O @ @

6.  Which of the following featurea of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?

)  Geneticcodeisredundant
(2 Geneticcode is nearly universal
(3) Geneticccde is specific
§8  Geneticcode s not embiguous
7. Match Column -1 with Column -IL. |
Column - Column-1I
(a) Sapmphfte Symbiotic association of
fungi with plantroota
(b) Parasite Decompositicn of dead
i organic materials
@ Lichens'~| i) Livingonlivingplantsor
. ® a.mb..—.._..._
A 5(” { Mycorrhiza ¢ (iv) Symbiotic associaiion of
2 algae and fungi

‘(;};booe the o;)n'ed answer from the optiona given

® ) below :
. W Dump the waste withinrocksunderdeep | . ., . (@ ® © @
; popsa o G, @ 0 @
(J Bmyﬂ;ewastethunmchdeep belowtbe . (2) ('u') m Gi) v
Earth's surface - . | @ @ ™ ‘(.i)
(& Shootthowasteintospace . -+ . ,m 0 @ @G @
- | z T &;x
[ —
' WmW.nOTESmeOavT. cOM s
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@ Polyblend, a fine powder of recycled modified | 18. Whlch of tho fol Lywing i true for Golden

plastic, has proved tobe a good material for : (l)" It in pest resintant, with a ger
(1)  use nsa fertilizer Bacillus thuringiensis,
@ o ction of roads *~ (2) It is drought tolerant, develope.
. \king tubes and pipes® Agrobacterium vector.
an
Gy m & . PP (3 It has yellow grains, because of
making plastic sacks introduced from a primitive variet:
) ﬁ It is Vitamin A enriched, with a ge
9.  Which of il.c following pairs of gases is mainly dnffodil.

responsible for green house effect ?

() Oxygenand Nitrogen 14. Which one of the following equipm
essentially required for growiag microb

)., Nitrogen ¢:.J Sulphur dioxide ‘ scala, for industrial groduction ofen
J Carbon dioxide and Methane Sludge digester
(4 Ozoneand Ammonia @  Industrial aven

) ) . Bioreactor
10.  Match the following hormones with thgrespective @ ore

isease : . . S (9 BODincubator
& Infulin,.:_-_ o ®  Addison'sdiseass @ Select the hormone-releasing Intra-1
@& Thyroxin. \ G) Disbetesinsipidus Devicke. —
© Corticoids |\ (@) Acromegaly () Multiload 375, Progestasert
@ GrowthHormons'4v) Ceitre @) Progestasert, LNG-20
W)  Diabetes meliitus )  Lippes Loop, Multiload 375
Select the correct option. - . 4) Vaults, LNG-20
@. k) © @ | 16. Match the following organisms with the p1
y@ @ @ 0 they produce : o
4 oW @ 0 @ _ (?)-Lactobaaﬂu.sl. 2) s
@ @ 0O G | ) o :
\fQ v O @ @ - : ,\g -, A_,'pa-giu"smjggr; © @) Citr
' bacte 5 {iv) Eres
1L Wluc‘wf thefohowmgatatementamm;or;ect; @ Aceto raoet -
I H alk .
w [Cg;) ’ i soues Ofmmy .01 . Select the correct option.
) " Conidia are producad exogenously and ! (@) ). (tf) (@),
' . aBcospores endogenously. ~ » ' G G @ ™
\{‘{ Yeasts have filamentous bodies with lonE . R G @ ® ®
_ thread-like hyphae. . e @ e @ ®
clicade.

) Morellandtruﬂleaareednblede (‘k )

12.  Which of the following ecological pyramids is | 17, Which of the following muscular disorc

nerally inverted ? . inherited ?
(g; Pyramid of enetéY : ' Muscular dysu-o:::y
(@ ,Pyramidof biomass in a forest @ Myas?he:ia gra
0@/ Pyramid of biomass in a sea - @) Botulism . ;..\\
(4) Pyramidof numbers in grassland .|.|. - A'-'.‘ (@ Tetamt 4
SMYFOOT.COM
W ROTESWYFORT.cOM..
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18 g:‘l::‘u::;l the fo!lov:i::n:-? a commercial hloggl @.
. A Statin
(2 Streptokinnse
‘ /E) Lipases
<(0 Cyclosporin A

19. y{au:i:g:vﬁc:::ﬁ by mutation, as proposed by
w' random and directionlees
(@  emall and directional
@) small and directionless _
9 random and directional '
Cells in G phase : v
enter the cell cycle
suspend the cell cycle
, 3 terminate the cell cycle
exit the cell cycle

W
21. Select the correct cption.

- 11t and 12th paire of ribs are connected to
the steraum with the help of hyaline

cartilage.

Each rib is a flat thin bone and all the ribs |-

" are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.

There are seven pairs of vertebrosternal,

tbmpaimofvertebmcbondnl and two pairs *

of vertebral ribs. )

gth gth and 10tk pairs of ribs articulate
i with the aternum. i

“)

for animals and plants being ‘driven to
extinction ?

)  Droughtand floods

2 Economicexploitation

J) Alien species invasion

Which of the following is the most imperignt cause |

25.

28.

29.

I

)y

Habitatlounndfra;mentaﬁon “

v

~

MYFOOT.COM

i

L@
’ " @ 1500 mL

-

What map unit (Centim -
organ) in i th
:;\-htﬁmofnmﬁc maps ? ndopm_l u.n_.hc
A unit of distancs betw
L
A’ genes, representing Im;me‘m?'u‘
A unit of distance betw .
t e 3
chromonomen, representing ;; m:enemr .
(l‘ A unit of distance between genes o;:
chromosomen, representing 0% croei over
@ :

A unit of distanes batwes X
" en two rane
genes, representing 107% crosa o "R,,' . :_'d. )

Respiratory Quotient (RQ) value of tripalmitic ia:

(n o7

@ .007T ° ,

@ 009 e~ ‘

@® o9 p

insyljn-dependent ?

GLUTII

(@ GLUTII

(3 GLUTIV

@ GLUT]

Persjstent nucellus in the seed isknown as:
A1)  Perispesm -

(» Hilum )

® Tegmen

4 Chalaza

Thiobacillus is a group, of bacteria blpﬁ: Y Jin -

carryingout: - . S

1)) Moiuwuvplﬁcﬂnﬁnn e s

(2, Nitrification e

(4) Nitrogenfixation

Expressed Sequence Tags (E‘S)Ts) refersto:

(14) depegudeexpmm

\ N

@ DNAZdmorphion
@ Novel DNA sequencés

B
N

Genes expnne'd asRNA' A

Tidal Volume and Expitatory Reserve Volufne of

an athlete is 500'mL and 1000 mL mPect?vely.

What will be his Expiratory Capacity if the

Residual Volume is 1200 mL?

(1), :700mL

«2200 mL
2700 mL

/"/

w

WV . ROTESMYFOOT.cOM
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30. Identify the correct pair representing the | 38 Delect tha Incorrect statement.
causative agent of typhoid faver and tha
confirmatory test for typhoid. e of ::::;':‘:l:n‘:l.m ntial to eolve pu
(1) Streptococcus paeumonios | Widal test (D Inbreedis.g salects harmfil recessi
(@ . Salmonella typhi ! Anthrons test that reduca fertility and praductivit
Salmonella typhi I Widal test (M Inbteeding halpa in aerumulation ofs
(9 Plasmodinm vivar / UTT test ernes and slimination of undesirabl
Inhreadingincrasang Lenerygemity
31 Select the correct sequenm for transport of eperm

32

cellain male reproductive ayetem, .

Seminiferous tubulea —» Rete testis
— Vasa efferentin — Epididymin
-3 Vas deferens — Ejaculatory duct
—5 Urethra — Urethral meatus

Seminiferous tubules — Vasa ‘efferentia

W

- Epididymis -3 Inguinal canal | 37.

— Urethra

Testis — Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
— Inguinal canal — Urethra
— Urethral meatus

Testis — Epididymis — Vasa efferentia
— Rete testis—1nguinal canal —»\I_;cth_ra

.

6. Which of the 'ﬁ‘bﬁ!ﬂ' Aatsmenty ininece
Viruaes ara chligate parasites.
Infectirm eomatituent in i smey in the
enat,

Prions comaint of abnermally flded §
e‘ Viroida lack a protein coat.

DNA precipitation out of a mixturs of bion
ca achieved by treatment with -

#]

Chilled ethanol
(2) Methanol at room temperaturs
(3) Chilled chloroform
(4) Isopropancl

as. i ne of the following is not a =
conservation of hiodiversity ?
wildlife Sanctuary

P}lcem in gymnosperms lacks: ' :
Garden.
1) Sieve tubesonly ((:2’)) Boc-m:lm
‘,d Companion cells only ® SnBios:dhen :
3 Both sieve tubes and companion cells - Resaxve
(9  Albuminous cells and sieve cells J 39. The correct sequence of phases of cells
iy N M) G,—GCy—>S—>M
Consider following features : N S Gy o5 Gy M
@ Organsyntzmleveloforianisauon G, -5 -Gy > M
() Bilateral symmetry fbo:.l .*5) M- GG —S
True lomates with segmentation o A o
(Sczled-:he o::oct option of animal groups which 40. Which of the following immune res
pessess h ristica. responsible for rejgcti
A alln n:h; d:bwh r:hCharmodm“nd Mollusca kﬂ\ Humoral immuoe response
(6\ . ® 0. Inflammatory immune response
(2 Arthropoda, Mollusca and Chordata i A amediated inmmene
@ Annelida, Mollusca an:indChordnuu P respo
’ o ’ 41.  From evolutionary 9013: :: V\:; n‘n:;eo:
. 2h dave
. of the following statements Fegardmg fermale gametophyte wi ¥
Whl“:hpoatffcrt.ill::-lom? tion development in flowening plants on the parent sporophyte for scu~ 1
is observedin:
(1)  Zygote developsinto embryoa” Q1 Mou.u .
(2 Centralcell developa into ondoq:cnﬁ Ptondopl\vm
A5 Ovules develop into embryceac . K)) G.ymno:u
@) Ovary develops into fruit '|'|' (4) Liverw
. EMYFOOT.COM
WnwW.nOTES Wl/YanvT’, cOM
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42  The frequency of recombination between gene paira
: on the snme chromosome na n mensure of the
distance between genea was explained by :
GregorJ. Mendel
Alfred Sturtevant
Sutton Boveni

49 T.H.Morgan

3.

Following statements describa the characteriatica

of the enzyme Restriction Endonuclecse. Identify
the incorrect statement.

(1)  The enzyme binds DNA at specific sites and
cuts only one of the two strands,

@) The enzyme cuts the augar-phosphate

_backbone at specific sites on each strand.

\@3) The enzyme recognizes a specific
palindromic nuclectide sequence in the DNA.

The enzyme cuts DNA molecule at identified
position within the DNA.

44. Which of the following statements is ccrrect ?

@)

R
®

o

Cornea consists of dense connective tissue
of elastin and can repair iteelf.

Cornea is convex, transparent layer.which
is highly vascularised. '
Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.

Cornea is an external, transparent and
protective proteinacious covering of the
eye-ball.

45. = Xy)¢m translocates:
)  Water and mineral salts only

46.

regpectively
3 Deletion of GQU from 7“‘.. gth hnd 9th
() Insertionof G at 6t position ' '|'|'

2) Water, mineral salts and some o.x;ganic
nitrogen only _

(3) Water, mineral salts, some organic nitroge

-+ and hormones .
Water only ) .

-~

&

Under which of the following conditions willthere’

be no change in the reading frame of following
mRNA? ° 7 o

5 AL g&icqccmuu 3
:2‘ Deletion of G from 5P position

Insertion of A and G at. f“mdﬁ*p?dﬁom'. ‘

(.
-

47.  Placentation, in which ovules develop on the inner

wall of the ovary or in peripheral part,is:

# A
P Parie

tal
Frea cantral
&Q Banal '
48.  Conversion of glucosa to glucoase-6-phosphata, the
tr:m irraversible reaction of glycolysis, is catalyzad
v ' .
&  Hexokinase ”
(22 Enolase
'@  Phosphofructokinase
© (4 Aldolase

}@ It takes very long time for pineapple planta to

produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to incrsase

yield? :
(1) Gibberellin and Cytokinin

f Gibberellin and Abscisic acid
(3} Cytokinin and Abscisic acid
@) Auxinand Ethyiene -

§50. The Earth Summit held in Rio de Janeiroin 1962

wa d:
for conservation of biodiversity and

sustainable utilization of its benafits.

@ to assess threat posed to.native speciesby
invasive weed species.
(3 for immediate steps to discontinue use of
CFCa that were damaging the ozone layer.
4 to reduce CO, emissions and global
- w .-

C oW
2

5L  Consider the following statements=-

(A) Coenzyme ormetalion thatis tightly bound
** to enzyme protein is called prosthetic group.

. (B) A complete catalytic active enzyme withits
bound prosthetic group is called apoenzyme.

Select the correct option.
(1)  (A)istrue but (B) isfal’e‘
¢ (@)%, Both(A) and (B) are fﬂl’?\
(A) is false but (B) is true.
T, & Both(A)and (D) are true.

fe ;'1YFOOT.COM
WrW.nOTES m/YanvT’. cOM
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55 m."‘:ﬂg:;:m ,},ﬂ"’on'd p:)l; poll worm
m oist surface of midgut
epHof gut
@ Addic pH of stom nch
0] Body temper?
53. Fxtrueion of eecond polar body from FER nucloun
sccur® \

@ after fertilization by
before entry of sperm into ovum
r‘.muluneously with first clenvage
after entry of sperm but before fertilization

54 How does gteroid hormone influence the cellular
activities ?
(4)] Bindink to DNA and forming 2
gene-bamone complex.
ré/-AcﬁvaﬁnCcycﬁcAMP Jocated on the ceil
i membrane.
m Using aquaporin channels a8 second
messenger.
Changiug the permeability of the cell

-l‘ membrane.

55. Identify the cells wwhose secretion protects the lining
of pstro-intesu'nal tract from yarious enzymes.
gy Goblet Cells :
@ Oxyntic Cells .
3 Duodenal Cells
@ Chief Cells
@ . What is the 'M of phowperiod
WM ?
{4 ™ pulvinus g
@  Shootapex *
__w) Leaves t";.
@ ‘Lateral buds ’
57. Insome plants, the female gamete develops into
gmbryo without fertilization. This phenomenon
» k n as : 1
.p~r*“-nocarpy ||
Syngamy =MYFOOT.COM
v WwW.ROTESmYFOOT.cOM

Autczamy

g\ Parth nogenesis
@ .

ga. D lled ‘Heroin' in -ynthuimd by:
%mtthm of morphine,
i glycomylation of morphine
piteation of morphine
mathylation of morphine

of the foilowing pair of orgaml!’ird-

6. Which
c(mh\iﬂ [ LNAJ
ghlnmvlad and Vacuoles
[ynonomes and Vacuoles
@ Nuclear envelpe and Mitochondrif
'R(n Mitochendria and Lysosomes
60. Which of ¢ ollowing gexually trant
dineanes i | ompletely curable 7
Genital warts
@ Genital berpes
(3\ Gonorrhoea
@ Concanavalin Ais
an escential oil
alectin
S I pigment
@ an alkaloid
@ In Antirrhinum (Snapdragon). 2 red flov
cmssedwithawhite flower and in F; g22
pick flowers were ined. When pi
were selfed, the Fz generation showed Wi
and pink flowers. the incuor
from the following: '
- Q) Pink colour in Fy is due to ince

dominance.
Catioal Fyis + ez 3 Pisk .2
0 8‘34 = . .‘\ )-4

@
@ Lawof Segregation does not apply
. experiment.
C)) 'l‘hiﬂexperimwdoea pot follow theE
of Dominance.
armsofa submet:

@ The shorter and longer

. chromosome are referred to as:
' jy p-arm and g-arm respectively
Y@ qasa@andparm respe
m-arm and n-arm respectively
g-arm and J-arm respectively

s
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_ e f organs in the
. be used as a hiocontrol | 70.  Select the correct sequence o :
Tt esmeslplantde wimentary can) of cokronch aning bom
m 3 ,
. (1) Chlorella g{ Pharynx .—» Oesophagus — Gizzard —
@ Anaboena Crop -’ [leum —» Colon —» Rectum °
illus Pharynx = Oesophagus — Gizzard -
&) I"""b"“ . ‘K Ileum —» Crop =» Colon —» Rectum
% Pharynx —» Oesophagus — lleum -
65. Purines found both in DNA and RNA are: & Crop ~» Gizzard —» Colon — Rectum
i d guanine Pharynx —» Oesophagus - Crop =
D (A}dem.ne :‘ d‘“ a % QGizzard —» lleum =» Colon = Rectum
uanne LIMI
3 Cytosine and thymine 71. Which part c_.‘ tge brain is responsible for
]) Adenine and thymine thepfaoregulation ? \
i X Hypothalamus
§8. Pinus sced cannot germinate and establish (@ Corpuscallosum
without fungal association. This is because : (3 Medullaoblongata
it has obligate association with mymrrhifu. () Cerebrum
(@  ithasvery hard serd coat. 72, In a species, the weight of newborn ranges from
(3  its seeds contain inhibitors that prevent 2 to 5 kg. 97% of the newborn with an average
germination. . weight between 3 to 3.3 kg survive whereas 99%
2s embryo is immature: of the infants born with weights from 2 t0 2.5 kg
@) itsembryoisimm or4.5t05kgdj;.Whichtypeofselzcﬁonpm
. . . is taking place
67. Colostrum, ths yelicwish fluid, secreted by mother 18 . i
during the initial days of lactation is very essential (i) Stabilizing Selection
to impart immunity to the newborn infants because 2 Disruptive Selection
it containe : (3 Cyclical Selecticn
(1) Monocytes (4  Directional Selection S ot
(® Macrophages ) - e
73 of the following statementa correct?
<% ImmunoglobulinA :
] The hydrolytic enzymes of lysosomes are
(4 Naturalkiller cells ’ active under acidicpH. . -
- ’ 2)  Lysosomesare membrane bound structures.
@ What s the genetic disorder in which an individual ®, o e by the -
has an overall masculine development, 9 y:i:omuartg_‘ arm, 1 yt p}'owea
gynaecomastia, and is sterile ? pe ging in the endoplastaic reticilum.
()  Klinefelter's syndrome ::::;«;:es have nuxne‘rous hydrclytic
& Edward syndrome - ‘p'f thhof';.hc L e
Down' i statements given below is.not true
. ssyndroms . about formation of Annual Ringsintrees? -
» (@) ‘Turer'ssyndrome . Differential activity of cambium causes light
" and dark bands of tissue - early and late
69. What is the direction of movement of sugars in wood respectively.
? .
phicem? . Activity of cambium depends upon variation
(I) Upward in climate. N
(2 Downward . (3) Annual rings are not prominent in trees of
c 0 L : temperate region.
A% Bi-directional e .
: L - - @/ Annual ring is a combination of spring wood
- @  Non-multidirectional  -- . - and autumn wood produced in a year.
) | MYFOOT.COM
W ROTESWAOST.cOM

Scanned with CamScanner




TS cema 0@ s tenwt ..,

75: Match the following organisms with their

spective characteristics :
BPla * Flame cells
t®) Bombyx i) . Comb plates
©  Pleurobrachia/ ] (i) Radula

(v) “Malpighian
tubulea
Select the correct option from the following :

‘l{ @ M @ @
G Gv) G) ©
% @ ™ @ ®
G @ @ O
@ @ @ 0 ™
76. Whatis the fate of the male gametes discharged
in the synergid ?
(1)  All fuse with the egg.
Q One fuses with the egg, 6ther(s) fuse(s) with
synergid nucleus. )
_é One fuscs with the egg and other fuses with
" central cell nuclei.
(9 Onefuseswith the egg, other(s) degenerate(s)
in the synergid.

77. Which of the following protocols did aim for

reducing emission of chlorofluorosarbons into the
atmosphere ?

(1) . Kyoto Protocol
Gothenburg Protocol -
- Geneva Protocol

- (4)-- ~“Montreal Protocol

78. Wh'nt"ﬁould ‘be the heart rate of a

79.

pgison if the
cardiac output s 5 L, blood volume in thd ventricles
at the end of diastole is 100 mL and at
ven gystole is 50mL ?

{f  7T5Dbeats per minute
(2) 100 beats per minute R 3
(3 .125beats per minute
(49 B0beatsperminute y,

the correct group of biocontrol ?agent‘

Trichoderina, Baad_ouims,

Bacillus thuringfensw

Oscillatoria, Rhizobium, Trichoderma -

‘Nogtoc, Azospirillium,

Nucleopolyhedrovirus

Se

‘3 .
5
°(<’ ' M.Aphidl

9

endof’] .

< Bacillus thuringignsis, Tobacco mosaic

The enneapt of “Omnis cellu 1" rég
cell divinion wan firnt pmoo“:: t:’llula e

(1) Theodore Schwann
(% Schleiden

BL  Agenalocus han two allales A, a. Ifthe fre

of dominant allals A ia 0.4, then what will
frequency of homozygous dominant, hetero

and homozygous receanive individuals
population ?

(1 0.16 (AA); 0.24 (Aa); .36 (aa)
(2 0.16 (AA); 0.48 (Aa); 0.26 (an)
(3 0.16(AA); 0.36 (Aa); 0.4 (aa)
1) 0.36(AA); 0.48 (Aa); 0.16 (aa)

 Select the correctly written scientific o
Mango which was first desecrib
Carolus Linnaeus:

Mangifera indice Linn.
Mangifera Indica
Margiferaindica Car. Linn.

)
@ Use of an artificial kidney during hemor
may resultin:
Nitrogenous waste build-upinthet

4 Non-elimination of excess potassiw

(©  Reduced absorption of calcium io
q gastro-intestinal tract

Reduced RBC production

Which of the following options is th

~ appropriate ?
i (b) and (c) are correct
© @ (c)and(d)arecorrect
'~ (@ (a)and (d)arecorrect .
' @ (and® are correct
‘ i ing factors is respon
o %ﬁi&ﬁ:ﬁ:ﬁmm urine ?
. canh ity towas
g;‘:lnmunﬁﬁum in the kido
B Secretion of erythropoiet
Juxtaglomerular complex.
Hydrostatic prossure during glo
filtration.

Low levels of antidinretic hormone

&
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~ 85." Which of the following contraceptive methoda
- involve a role of hormone ?
(O\ Barrier method, Lactational amenorrhon,
Pills
CuT, Pilla, Emergency contraceptiven

Pilla, Emergency contraceptives, Barrier
mc

do

%)

(#)  Lactational amenorrhiea Villa, Emergency

contraceptives

Match the hominids with their correct brain
gize :

(@ Homo habilis 0] 900 cc
®)  Homoneanderthalensis (i) 1350 cc
2 (© Homo erectus (i) 6560-800cc
- Homo sapiens (iv) 1400cc
£ _llectthe correct option.
@ @) © (@@ N\
d{ G @) @ Gv) .
@ @ ™ @ ) T
« Gv) G Q@ . ;. N
Bo@ e m o -,

& , Selecttheincorrectstatement."

In maie grasshoppers, 50% of sperms Have
no sex-chromosome.

. In domesticated fowls; sex of progeny
tepends on the type of sperm rather than
ox a Y
Hw an males have one of their

. sex-chromosome much shorter i&n the
other.

Male fruit fly is heterogametic. ¢

-~

3

. * Match the following structures with their

10 .
89.  Which of the following atata
mlmchonddnhlncorrect? =

Enzymes of electron tra
in outer membrana,

e{:'tn -'re:iu-ding

naport ars embedded

(™ Inner membrane § :
i # convolutad with

(M Mitochondrial matrix eontaing single
circular DMA molacule and ribosomes

) Outer membrane

in permeablae tn monomers
of carbohydeates, fats and proteina,

90.  Match the following geﬁen

of the Lac operon wi
their respective products - SESSER

t) igene G pgalacwsidase
)  Zgeme* . Gi) Permeass
] (©) agene (i) Repressor
d) ygeng Gv)  Transacetylase ;
+ Select the correct option.
(@ (b)) @© @
M A6 @ @ ™ 7
O/ @ 0 6 G
) 1{(3) @ @ 0 @
. @ O @ @ @ - -

9. An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
js. (nearly) : (m,=9x10-3kg) = ¥

)] X101, e
’ 2x10-Mm T

D

&~ 122nm '
. @lv"’.m:

fan experiment, the percentage of error ccrurred..

e

- respective Jocaticn in organs : . 92, . 1 £xpe! en or ¢
(@ CryptsofLieberkithn 4) Fa_ncx:enu n the I:m;re;‘e;t;f a;;!hg r,c‘a:lqmnh: ‘_t'r%eg
(b) - Glisson's Capsu’ @) M%R o Mhe maximum percentage of error in the
© IsletsofLangerhand (i) Smalllc ) * s
intestihe Iq « measurement X, where X = =~ ,willbe:
(d BrunnersGlands. - fiv) Liver - ~ 1 - : |
Select the correct option from the follovg';(g; . [ 16% ' . .
@ ® @ @ . N "y "'(2) —10% - ‘ ,
DAG @ 6 (Y -l f 0 (R 10% ‘ .
@ o 0 @ R S .
@ @ @ O @, s ( %)% e
@ @ @O W & - : .
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9. When an object is shot from the bottom of along

11

emooth inclined plane kept at an angle with

" horirontal, it can travel a distance x; slong the
lape. But when the inclination isTtreased to
and the same object is shot with the same
“Telocity, it can travel x, distance. Then x, : x,

willbe:

¢Y) ﬁ:l - ”

‘G)/rl:-lii . . oA

(3) 1:2J§ A
@ 1:42 b s

A block of mass 10 kg is in contact againbt the

inner wal! of x hollow cylindrical drum of radius J,
1 m. The coefficient of friction between the block |
and the inner wall of the cylinder is 0.1." The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating zbcut ita axis, will be :

b

- - - ' * . ,( ) '5‘

A§lindrienl conductor of r u-k" A
conatant current. The plot of th ;
the magnetic field, B with the dx:tl:n :

the centre of the condu
ctor, i
reprénented by the figure : ? corre

. - - . .
-

(g=10m/s?) /
10
(¢)) py rad/s ,
@' 10rad/s : ]
3 10wrads g . ¢ i\,
rad/s I ) / . -
lﬂ(_ Jl—6 - /7, 19 Aoopperrodofsscmandanalummum
e L., ¢ N~ "}~ -unknown length havg their increase in }
. T . ) . " independept of increasé ixrteraperaturs. The
Average.velocity of a particle exscuting SHM3n: | - ~! of aluminium x;od Eﬂi : (dgy = 1.7X10 K
one complete vibrationis: el dy=22x107°K"Y)

J S

(3 68cm

4 68cm

AN
_d\ ' |
I_ ) Az L ,q:a Bacm .'\.
2e10
Aw
2
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: ,Qj‘ '_'s\ . Ty ALK R TR T
-— 98. "'Si!limilarbulbl, 2 * 12
A . are connected .
_ ..ﬁmmmancaonmof.mm_::d-hwnmm 101 At a point A on the earth's surface the angle of
' remstance. M‘l : :1;113.3" +25°, At.npointhnthaennh'llurtm
v The ratio of POWer consumption by the bulbs when th:t.:n!h of dip. 3= -25.'. We can interpret
1 2 sy g
() l:: glowing :nd (ii) in the situation when () Aislocated in the southern he
- aect‘o d ™
-7 ing, will be st o 2oction B are Bin located in the northern hemisphere.
D . R g @ Aillomhdin!.hononhemhemisphgnmd
v e e e . Bislocated in the southern hemisphere.
(3)'. "A"and B are both located in th
R ’ hemisphere. e mouthern
. .-" 4 (®) 7 *A and B are both located in the northern’
, ] . ’ ‘ -hemmm_ .
. 17 . r % l
< . | | , v 102 A!ﬁi.lco__fn ius 2 m uud mass 100 kg rellaon a _
e Vs , /@'0 izon oor. Its centre of mass haa speed of
. N o v, A cm/s. ;How much work ia need o stop it ?
B o T L e S
- - ) -,\ i . i \ :. ‘ . ZJ . - .
(1 9:4 . /: It 49 1J ) e *
@ 1:2 ~ 2 (. /r b 2" 3dJ ' 1
po 8. 2:1 7, > 103. Inwhich of the following devices, the eddy current
. . 7 4:9 ° . v J effect is not used ?
=%, ’ (1) magneticbrakingin
©9. A body weighs 200 N on the surface of the earth, @ electromaguet . -
ommaliwil Hweigh hallway down to the tem ’r(:z; electric heater P
,  oftheearth? . ’ , J’) induction furnace AN
(1) 200N : ' - N
. 4 a . , 104. Twogimilar thin equi-convex lenses, of focal length -
N J/“ \ (@~ 250N ~|-. ... fepch, arekeptcoaxially in contact with eachcther
- N 100N * ., 7% 7 such that the focal length of the combinstion ia
i g .'\‘ ‘ R S ,, . F,. When the space between the two lenses is
5 . @y 1WON MO, S k.o g.filled with glycerin ‘which Fias the same refractive
. ; ~ . 9.. * index (p=1.5) asthat cf glass) then the equivalent
~ . . 'L focal length is F,. 'l;hy' tioF,,‘;F.;v"inbe:
@ In the circuits shown below, the readings of the |3 - @ 1:2 £ 4 .
* voltmeters and the pmmeters will be : . T) ‘ " A BN
P, ﬂ . - L - b ) a) 2:3 ,- / . .
£+ S 34 : ‘o !
@z N _A .
.5

;\ i‘oa’i&. bubble, having radiuj.ot: i mm,.&'.'pbyn
from a detergent solution having a surface tension
of 2.5 % 10—2 N/m. The pressure inside the bubble

' N equals at a point Zo below the free surface of water" .
SGircuit 1 Circuit 2 ’ in a container. Taking g=10 m/s%
' density of water = 103 kg/m3, the value of Zgis:
« V.=V, and i) 2ig4 . v ¥ ensity o ] .
Nw . 1 2 Sy . . T‘ (l) 10 Cm . i
@ V,=V;and i, =i, |« @ 1cm
i, ;. X
® sz:Vl and i, >-£§‘ ) S :r0.5cm | ;??“\
@ Vy>Viand iy=iy - . = | @\ '100em . )
.-..‘._ - ’., by v) °;¢1_“
. ||||
- _ MYFOOT.COM
" W W.ROTESWfOST.cOM

ot ———
s —— e = | S—
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106. - Two pnrtMu A and B are movifig in v

- - ) o,
A ) b . -
' . .

circular motion in concentric circl

en of 1
ra and ry with speed va nnd vy respectively,’ ’R\;Ir
time period of rotation ia the asnme. Ths ratio of
angular uprMLolA to that of B will be :

() BTN N o\
. m T Tx . P -

@ 1:1 \ v, ¢
- )(") Tpo:Tp |

oy,
_ 107/

U
\

E——
==

'I'he correct Boolean op ng}!m represented hy the

it diagram draw )'
NA.’@\ . * \

A . ‘e

108. A hollow metal sp{re of radius R is unifornhy

W

109:

4

charged. The electric field due to the sphere ata
distance r from the centre :

increases forr>R
2

increases forr>R

r>R "ah

(4) increases a8 rmcrﬂaseo forx < %nd fi
r>R rJ :
Two point charges A a B having chm‘iéa

+Qard =Q res \':uvel
du?t.ande apart and force achnz between the;

F. 1f 26% chnrge ofAis tranaferred to B, then

becomes:

" zer0 as r increases for r <R, decreasensr
zero a8 r increases forr<R.m¢:reasesur

decreases as r increases for r < ﬁ{nd for

;r'

/:{:n

Ca . .* -

lb\h\- ':ﬁ%. apeed of n w <'

‘sb\m-nn otill waiey. ha

Tha speed of river water is 10 m/a

and
dus enst. 1fha is standing on the lo:thil.a::;
wishes to cross the river along the whortest
the angle at which ha ahould make hil sl

w.r.t. north ia given hy ¢ /

th.
7))

‘r ’ ‘ - . ‘
or wnM P ' . . .
@. A6* wrent, o K N

30" went,

‘- L
Maplacament of a pnrtialluf.uting t
onic motion is given by

HA,+Anime+Bmu.¢.

Then

JAZ 4 p? | *

» amylitude of ita oacillation ia [ -

JA% +(A+ B2

@ .
@ A+B .
:'/ @  Ap +JAZ + B .

-
’

112, Pick the wrong answer in the context

(1) The order of colours is reversed -
e secondary rainbow.
i . An observer can see a rainbow whenhi
* is towards the sun.

" Rainbow is a combined effect of dispe

refraction and\ reflection of sunlight.

When the light rays undergo
reflections in a water drop, a
minbow is formed.-

.‘-‘.

113. Theworkdomwnmamnmfmmw-

of the earth to a belght h, which is equal

jul of the earth;is:
i

2ng .

: I
@ 32- mgR g
@ Smk '
4 meR
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‘_ . l‘l.=4/3, ' ‘-~ ' e /’/'*
ot 0.15" . ;..‘",,

. ..
‘416. In a double slit experiment, when light of
/  wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m

away, was found to be 0.2°. What will be the
acgular width of the first minima, if _f_h_e_ entire
experimental apparatus is immersed in water ?

s (@ 005 O 7
@ or ‘“;b' ' ,/
@ ome i v/
LY AN
117. In‘whichof the following processes, heatia neither
absorbed nor Jnelensed by a system ?
-. / udiabatic *
@  isochor R
(9  isothermal -

\ b ’ . P\ .
: A : ¢ - ' AP,
Q3 N, g - R ' ’ : W g
114 Forap-type semiconductor, which of the following | 118." A small hole of area of bection 2 mm? i
_ of heteh m of a fully filled open tank
(1) _« Holes are the majority carriers and trivalent o t2m. Taking g=10 m/a2, the rate of flow
toms are the dopants 0 '"m'u‘"’“ﬂhthﬂopenholcwouldbeneu]y:
!2( Holes are the majority earriera and |/ m ) 8.9%10"%m¥s '
’ < . pentavalent atoms are the dopanta, ' (2 223%10-%mY,
i) Electrons are the majority casriera and @  0.4x10-%mY,
.. J, pentayalent htoms aré .!he dopanta, (1)  12.6%10~% 3,
/ \Q Electiona are the fajority carriers and ‘
Yy oy trivalpnt atoms are the dopanta. 119. Increase inmmpentmolamﬁlhdinamcm'm'
e would lead to:
118\ Two parallel infinite line charges with linear ﬁ increass in ita kineticmrv_ ‘
charge densitiea + A C/m and =\ C/m are placed . d .
at a distance of 2R in free space. What is the | ocreass n it preseury B
electric field mid-way between the two line e decrease in intermolecular distancs
w ? = increase in its mass
"o d\ ) i ) ,
W gN / P N +.’| 120. Whigh of the following acts as a circuit protection
et o . ‘b deyice ?
: ‘v A - < ’ '\\, X ) inductor .
ll . = -. Y - o” .
A MO el
. t', - o
A - '
. N/ ~~ (4) . conductor
3 2wegR ¢ e
2210 ' 121. When a block of masa M is suspended by a long

wire of length L, the length of the wire becomes
(L+1). The elastic potential energy stored in the
extended wireis: , . )

@\Mgb". L

. ”\A | '. = MYFOOT.COM
. Q QM/ .

o Mg’ -
T WW.nOTES I/M/YfOO'T. cOM

s
o

}'122. A parallel plate capacitor of capacitance 20 uF is

i tial
being charged by a voltage soirce whese potent

ia changing at the rate of 3 V{s. Tbo conduct:gn

_* current through the copnecting ms.‘m} th°

_ displacement current through the platey of the

capaci ould be, respectively: .
) @WM .
‘J g « 3810 '
. . Zero, 2ero
o ‘% zero, 60 pA

pp—,
—
-
———
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128. "A’860 turn coil of effective aren 0.06 m? i 2 ept | 128 The unit of thermal conductivity ia ;
.ﬁeiﬁehi{ic\ilu to a magnetic field & : ) Jm-! K- :
When the plane of the coil ia rotated by 90° around - o
any of its coplanar axia in 0.1, the omfinducedgt ) m K ¢ '
in the coil will be : o't T, Wmmlged t
W 02V ¥ Vo VR PY S ’
2!10-3‘7 . * e "," . _.-‘ ’ - N ) - .
@ 002V « 87, ﬂzn. A nolid eylinder of mana 2 kg and radiug 4 cx
@® 2V . - g ) W rotating about its axia at the rats of 3 . !
o Gquue required to stop after 2 r-,;pl-\'mm ia
n total internal reflection when the-:\t;:le of"} Ca: A1) * 2x10-"Nm - a*
incidence is equal to the critigal angle for the pair i > ‘7
of media in vontact, what will be angle of }« @ 12%10"*Nm - s Y
mﬁ‘wm? » & 4 o ® 0 I (3) . leoﬂNm . - - . :
© ¢ | e ’ ' @) 2x10~°Nm S
ﬂ. * egual to angle of incidence o, . v
. , _ ' y
@ . . - |\'4p.' Body A of mass 4m moving with ap»é ugm
@ 18¢ .- ¥ , ” with another body B of @ —ar 7l '

. =4

collision is head on and elastic in nature. A

123. a-particleconsistsoi: - < - N . l the collision the fraction of energy lost by
2 electrons, 2 protons and 2 neutrons s colliding body A is:
(2) 2electrons and 4 protons only 8 . . _
R 2 protons only PR \ I -9- Rk £ e .
(4) 2 protonsand 2 neutrons only .. J . . A l\
‘\ - ", 4
126. Aparﬁciemovingwithveiodtyviaamdb thress} ¢ « . @ 9 "
forces shuwn by the vector triangle FQ¥ The '’ . .
velocity of the particle will ;. hy B 5 - o -
P = ’:,.‘i - . ) .(3) _9' ‘ . -
'.‘\’ 5" e T, .. :"L < 1 L e
. : 'TFL g L
. . ) S R
: / 31. A massm s attached to a thin wire and whi
: N in a vertical circle. The wire is most Likely tobs
A . 7 e P when: ' |
m . m . r.:; i | ﬁ .thewirehhorizontal ., P
remain constant . 'g i ((6\ the mass is at the lowest point -
. . . ‘: ° a & % & » .
© ok ling to the smallds fg’}é’@_ .“.(3) mchnedatunangloIOIGO'.f‘ro. Gea.
(4) ‘-- . gy R ) thomauiuttl_uhgheotpoxn‘

127. Aforce F=20+ lOyactaonaparﬂdax(nrdlrecﬁon
where Fis in newton and y i~ r :*2r. Work done

The total energy of an electron in an atom iy
orbitis — 3.4 V. Its kineticand potcntml'en

by this force to move the aarticle from are, respectively : '
yﬂow;-lmh: ' '1\ () ~-3deV,~63eV .
M b6 . .os 3
A V, —6.8eV ’
(2) 25J . v, . - ﬂ 34e ; )
@ 204 | b N @ 9.4eV,34eV.
' Q %0J - ) . $. @) —3.4eV,-34eV
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. ﬁrf_ “‘-'_8 rf-’ . 'n -
?3: N ——; . - H—‘T" ’ ’
magpetic -~ P"‘Pend.\ kh of the .
. fie Ar 1o & conetant ® following is »
pa oy H';I?'b.m ﬂmdMM“ “M cmn' n .n’h°‘.ﬁc
1:2
@ 421 q Mt(m‘l’),
) 1:4 - .f THO!D'
0] 2:1 (n 'Sr(()")' e . ‘
134 Which
'm‘en::llouf of the "lht has the * yagrat 139, :;l.sv SfIMG’W‘h are arrangsd in the ord 'l
ﬂ) um Y w_fn m'ﬁff"g”m“ !
@, green ' }f fp > M.,s,, 4
}( violet ’ . D ep> 5> 4d>5p
© ma o s8>

138 The radius ef circle, the period of revolution, initial
g’:!g:nlnd tensentrevolubonmmdnudm

7- mahmmdmm GeX,
oz - D, SaFjisiocicinnature
* g ﬁ' PhF{ﬂmalentmmtun
[9)) J@ 'im( )"ybereymd /‘l" . ~
‘ 42 Thebiodegradible polymeris: -
@ = 3::06(— whmym T "(b\ Bylon Zoylon 6 '
@ s
() ’(‘)'3“(?) where yinm /Bum-s o T
: N ylen6,6
’ --(0 I(t)ﬂ—Bcoczwt.WIlereymm _ :r
136 W!m:homnmhchmbmtheﬁmowmg’ 48t Forthlallrem
ai Cu(OH); - g; , zhﬂhanlu@au@ﬂguuq)
s A% “'""w y The standard Gibbs
(® CuCO,Cu(OH), . ’. @ . E;‘_n- 0.24:“ 298 K. s _
. Jp CuFeS; ; energy (A,G®) of the cell reaction s : ,
. i F=96500 Cmol™’]
137. Themethod used torem .vet mpoxarjb_a’:gne [Giyen that Faraday constant .
of water is : . -23.16 kJ mol~!
@ o . '\\ S ﬁ 46.32 kJ mol ™!
(@ lon-exchangemethod ~ - J'.'.t | 4 23,16 k) ool
@  Synthetic resins method “ o K 642K el
(49 Calgon’s method . @\ ‘
|| ST EMYEOOT.CoM
W . ROTESAFOT.cOM

() 5f>6p>5p>4d
- .
140. Féulﬁidnlooivﬁon.tbeeomctm;,:
W A V40 atconstant T and P
y A H=0atconstant Tand P
&), AppG=0OatconstantTand P
(® AniS=0OatoonstantTand P

-~
e

‘ l - SiCl, is easily hydrolysed

i of the following is incorrect statement ?

‘ng GeX, (X=F, Cl, Br, I) is mare stabls than

P

——
e — e ——— A
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SRS S0 Gnaice, wasbe b
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144.

145.

146

: 17

The number of sigma (o) and pi (w). bonda in
pent-2-en-4-yne iy :

(1) Bobondsand b wbonds

(2 11obondsand 2wbonds A 2

(3 13 obonds and nowbond '
10 o bonds and 3 wbonda -

In which case change in entropy ia negative? '
(1) Expansionofagnsat conntant temperature
(2. Sublimationof bolid to gas 4"

2H(@E®) - Hy®)
(4 Evaporationof water

Whi ing diatomic molecular speciea
hag®nly w bondgdccording to Molecular Orbital
Theory “”..\

g N -

@ G '

. Bey
0, O =0

147. The most suitable reagent for the following

148

-

149. Among tke following, the one that ' a

conversion, ia:

/’} H,C ws CH,
i H H
cis-2-butene

£ H,, Pd/C, quinoline
(, Zn/HCl ' ‘
Hg2* /H*, H,0
m. Na/liquid NH,

What is the correct electronic configuration

the central atom in K,(Fe(ClV) based on
field theory ? \-"—}I -

Mt '

dn\ o 3 U\wtf.t,.. g
T AT
tag € “

gregn house gasis: .
(1) methane v,
Ly ozone

(3  sulpbur dioxide,

(4 nitrousoxide ©

L

)

150. For the chemical reaction

@
@ -
@

-
-

g
ay
%

3

(})_'_ﬂ

¥ . . \&
1 %68 Whichwmmk.bmcbum}./ .

()
X

“
A5

v

the cgg'lo_gj_npuon in:

~ ANg) ) dINHy)

dat * dr
- AMg] _ 1 d(NH] L
de 2 ds

o vadllial . 40T)

dt dt

1 diHz] | _ 1 4NH,)
2

W 3@ N

iﬁl. Enzymes that utilize ATP in phosphate trans
require ana]kalineeartl{metal('m as the cofac

Mis:

Ca

Sr
Be

Which of the following species is not stable

e

(GeClgR~ -
[Sn(OH);]z-‘
(SiClgl~
(SiFg)2-
: .
100 mL of 0.1 M CHyCOOH +100 ml

0.1 M NaOH

100 mL of 0.1 M HC1+200 mL
0.1M NH,OH N

100 mL of 0.1 M HCl+ 100 mL of 0.]
NaOH

50 mL of 0.1 M NaOH +26 mL of 0.1
CH,COOH .

. 7 - L."
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155. The aumber of moles of hydrogen moleculea

H,c” 0\@9 '_/0\—}\".;_/"
(

. S 8
is most difficult to protonate 159.
AR

N

through an electrophilic substitution, ia:

O

\J Among the following, the reaction that proceeds

. requiredtopmducezomoleeofammoninthrough ¥, . Cul
yr‘spmh: N ﬁ “y O—N,Cl‘ﬁ——’»Q—CHN,
20 . H
/% e 2
- @ e . s \\6 n 159, A compound is formed by cation C and anion A
B @ 9. . . » The anions form hexagonal close packed (hcp)
i WL - A . - e TE lattice and the cations occupy 75% of octabedral
~ CAN LAY voids. The formula of the compound is: i
PN lfthera nt for a £rst orde:“'eaction is @ C \
AD the time (t) required for the complet.{;ea of 99% ? . ! e c A K
' Y the reactionis givenby :- (\"r[ ‘e @ CiA, '} "\b
N . - »
Q‘k o t 6.9091: ? . " @ C,A; U({/\ L .
t=4.606/ e =
- @ J L @ CpAq 2 7. , |
Y v @
@ t=0693/k < } . .
. I .| 160. pH of a saturated soluti?egf Ca(OH)pia9. The
157, Match ths Xenon compoundsin Column - with solubility product (Kgp) of Ca(OFDz 3
its structure in Column - I1 and assign the @ 025x30-10 ,ﬂ R |
correctcode: . . @\D ,
Column-I = Column-II o @ 0126x1071 6’0 T
(@ XeF @  pyramidal 4 @ 05x10°19. O \L\P
i ] L . .
. XQF{_.‘ B, A @ 05x10%1 e '
© XeOF,  Gif) distortedoctabedral O ( ) 4 ' |
- @ Xe?, &) 'qmmdil LA 4& For the second period elements the corfe.ct
Code: Va . increasing order of first jonisation enthalpyis: .
{
/(-) (l.») © @ "y v,-/ @/ u<B<39<9<0<N¢F<R4;k i
@ @ @ 0 v S Li<B<Be<C<N<O<F<Ne3 -
@ & @ 6 ' . v .. ’
: " : v ; c<O<N<F<Ne’ -
Q\ @ ™ ® @ . \\ S (3 Li<Be<B< i
@ ® 6 G @r @

u<Be<B<°<N<°‘@=®' | '

-
-
-

)
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162, The structure of i

- @ ¢ St S A —

168.

\ reaction, is:

Cc

B OH
< .
CH, ) o
Oz, B + 1m0 Acn,
H,0

H
G
H,C-C-0-0-H

CHy -
0-0-CH
|
@ CH,4
CH,~0--0-KE
Hi~ cn,
(&)
o
o-%
CH4 N
“@ '

Under isothermal conditio

atermediate A in the following ‘1

-

19

n';gasnt300|( .

inst a constant
:xx‘:rﬁ g:e?ngrt f;ft;:azs 'll‘ilig\:ou:; done by the
gasis:
[Given that 1 Lbar= 100J] -,
1 5k o l
@) 254 - . *
4 =30J ° c

.
).

164. 'il'.be non-eesential amino acid among the ‘

iollm-
(1) leucine
(2) , nlanine ,
lysine . :
(499  wvaline ’ '

166. FOI‘?{I cell involving one electron E2 = 0.59 ‘V
i2:)!! K, the equilibrium constant for the esll react

[Given that 223 RT 6050 v ae T = 208
() 10x10%
@ 10x100
3 1.0x10% '
@ 1.0x102 L

166. The correctordzroftheb
substituted amines in aqueo

(1)  (CHg)oN>CH;NH,> (CHy,NH

@  (Cij);N>(CHy,NH > CHyNH,
§3_//CHNEH,> (CHy)uNH> (CHY,N
y (CHy)oNH > CHyNH, > (CHpN

167. An alkene “A” on reaction with O;and Za—H
givea propanone and ethanal in equimolar ra
Additionof HCl to alkene “A” gives “B" as the ms
product. The structure of product ‘B is:

- . CHyCl W
1) I'IE,C--CRQ--CH--CH3 ) '-’
- e
?Ha '
-CH-CH
@ H,C ? I ’
y Cl C}ls ]
TP ~3
, i (';HS Tt
/ »
= (4) Cl"C“g"C“*"(.:il .
9, CHy £ 1
v - - .
~ oo <o
\‘Jf . .
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Q3

Which of the following neries of transitiona in the
spectrum of hydrogen ntom falla in viniblae

region?

(1) Ralmer perica

dk Lytes Seriea

169. The mixture that forma mné/é boiling

apeqirope is

Qi(/ Ethanol + Water

(@  Asetone + Carbon disulphide
@\ Heptane + Octane

g) Water + Nitric acid

170. Conjugate bad for Bronsted mnd HF

are

() H;0TandF-, respectively

(@ OH-andF-, respectively

@ Hs0* snd HoF*, respectively /
(4 OH- and H,F*, respectively

A ga3 at 360 K and lﬁbuhnmglaxvolqme

mpemumanerthanthitﬁiaﬂidealgu\mder

the same conditions. The correct option about
“the gasand its cowpressibility factor (Z) is:

(1)  Z>1and repulsive forcesare dominant

P o 7 <1 and attractive forces are doginant

@) 7 <1 and repulsive forces are dominant
(9 2> 1ynd attractive forces are dominant

172. Which mixture of the solutions will Jead to the

~,

'

/

" formation of negatively charged colloidal [Agl™
sol. ? \ o

¢ >
(0] mmLoflyﬁN0.+bomi of 2MKI

"o Eo'éfo;z\ﬁﬁoayomkgn.mm

@ 60mLofo, uup,uo..:i.ofMpr
" . 4 50mLof1MAGNO,+50miLof LMK

T

oy

@tuﬂ of tribromooctacxide is:
)~
0, o

T Uy oy,
tJ:\ O = Br = Wp = Pe -0
"\ nl |‘ \}_
\\‘ f) ,.

0 0

- 5 W 0
m‘ O--ﬂf—ﬂo-;;,:[? *
p— ] Ryiny
0 0 0.
O\‘\ (') ,0
¢ , ‘({ﬂ'ﬂr Pr~PBe~0G
. }0“ A ‘o
(8]
O‘ : ’0
OHPr—Br—Br-O
2 0 5 Yo
s

174. The meanganate and permanganata ioos are

_teirahedral, due to:
—('—‘

(1) Thereisno=-bending

2 mv-bondinginvolmm
of oxygen with p-orbitals of manganess
The 1r- bonding involves overiap of d-art:tals
of oxygen with d-crbitalscf manganess

@

/4

of oxygen with d-orbitals of manganese

175. Match the folloﬁng:

\Q Purenitrogen @  Chlorine
®) - Habrprocess @ Sulpburic acid
@ " Contactprocess () Ammosh

’ i Sodium axide o
@ Deacon's process m)'B'ariumuidﬁA

Which of the following {a the correct option ?-

(@) (b) (@ @@

@ @ @ O @
o @ @y @ W ®
Gv) @) @ ®

@ @ @ @ ®
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179. The mn;nr product of the follmnng reactio

cCoOOt

.,’

,p.
O
176 Which of the following :eactions nre
-‘.';E-@Qnmncﬁm? _
(® 2Cu* -Cu?*4Cu® f\ st
A R "gp -7 }"
® MO} + 4H* — TMn0L +MnO, rzn“
'_—-—f-‘ v ‘ v
f-‘ ‘¢ .
@ 2Mn(). +3Mn?* +2H,0 - Min_oi; +4H?

.

Select the correct option from the following :

& (a), By and () Q

P @ @and@
’P)' (2) and (d) only

@ (a)and (b)only

177. Which is the correct thermal stability order for
H,E (E=0, S, Se, Te and Po) ?

e f,0 < H,S < H;Se < HyTe <HyPo

. :1 -‘: ' °
.'&. ’g
'E d ’
: p
NH,
(3) @ - !, ’ LN -
NH,
. :’_f
' COOH
4 3
' i

7

6] ,HgSe <H,Te <HyPo <H;C <HjS

1

»,g« H,Po<HzTe<H25e<H,s<Hzo —

TAul

. \

‘| 180. Among the following, the narrow spect

@ . H,S < H,0 < H,Se <H,Te <HjPo | '{énubioﬁcis:
. "‘s,j" N ampicli
/ A .’(2) amoxyxillin®
178. Identify th w: statamentrelatedtcl’gq;l; chmphenml _
';,,‘. ) m‘h”blh (1 :' . i % pennnmo
:l _ (1) TwoaxialP~ ClbondamabfnandﬂdIW' oo
wn.hewho:hct i -00o0-
(z) Ana]? ammmmmmw | OTESMYEOOT.COM
P-Clbonds WwW.nOTESmeoo:z', cOM
ll? rJ PCly molecule is non-reactive
i ) Threeequa gm,m-Clbondlmnkoannnﬂ'
i of 120° wuh each other
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